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SECTION - A {10 x 2 = 20

VERY SHORT ANSWER TYPE QUESTIONS
Attempt ALL questions. Each question carries 2 marks.
Fimnd the number which exceeds its positive square root by 12.

If1,—2,3 are the roots of 3 = 2% + ax + 6 = 0 then find a.

ol
::‘_4:_2 L G,B— 4 3| find 4 + B
F 4 5
1 5
: (—1 ) i3
Find the cofactors of 2 and — 5 in the matrix { 1 oI |
w =% 3

Find the number of 4 letter words that can be formed using the letters of the word
PISTON in which atleast one letter is repeated.

14 persons are seated at a round table. Find the number of ways of selecting two
persons out of them who are not seated adjacent to each other.

Find the 6th term of (1 +x/2)".

Show that 1 +% - :

fomen + o= log 3.
252t 72t =

IEPA)=02, P(B)=0-5and 4, # are independent, find P4 '\ B).
A poisson variable satisfics P (X — 1)=P(X=2). Find P (X'=3).
SECTION -B 5x 4 = 20

SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carmies 4 marks.

If the roots of ax® + bx + ¢ = 0 are imaginary, show that for all x ¢ R, ax’ = bx+¢
and @ have the same sign.

Finth i 9 98 P00 T,

Find the number of ways of arranging 6 boys and 6 girls around a circular table so |
that i) all the girls come together ii) no two girls come together.
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Resolve ——————— info partial fractions.
x+2x+1)
, Pepdt Thpghagt 17
Show that 1 LT +T P g 8

If A is an m x n matrix, B is an n x p matrix, C is an p x ¢ matrix then show that
(AB)YC = A(BO).

Three Urns have the following composition of balls

UmT :1white,2black; Um Il ;2 white, 1 black; Um III ; 2 white , 2 black

One of the urns is selected at random and a ball is drawn. It turns out to be whitce.
Find the probability that it came from wm II1.

SECTION - C 5x7 =235

LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 7 marks.
Solve the equation x* + 4x* + 5 + 2x — 2 = 0, one root being — 1 + .
c’11 CE Cﬂ 2“ H 1
Show that C‘Q+T+ 3 +"'+r:¥TLﬁ'
Show that G}~ C2 4+ G = C5 4 .. .+ (1) C: =0 ifn s odd
=(—1Y"" "C_, if n iseven.

Solve the equations by Gauss Jordan method.
J;--I-_}’—Fz:g,h +5.:|J i Tz: 52’ 2x+'})_:: 0.

01 1 h+ec c—a b—v

IH4=|1 0 1} and B = 3¢~ b c+a a-—b| then show that ABA™ ' is a diagonal
1 1 0 Lb —¢ a-¢ a+b

matrix.

A, B, C arc aiming to shoot a balloon. A will succeed 4 limes out of 5 attempts.
The chance of B to shoot the balloon is 3 out of 4 and that of C is 2 out of 3, If
the threc aim the balloon simultancously find the probability that atleast 2 of them
hit the balloon.,

The probability that a person chosen at random is lefl handed (in hand writing) is
0-1. What is the probability that in a group of ten people there is one, and only one,
who is left handed ? :




